Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-I (CtoD) * EXAMINATION — SUMMER - 2014
Subject Code: C300001
Subject Name: Basic Mathematics
Time: 2:30 pm —4:00 pm

Instructions:

1.

Attempt all questions.

Date: 18-06-2014

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
log(sin®x + cos®x)=

1. A |1 0

C. |-1 T
2

log,,0.001=

A3 i

2. 3
C. [-3 1

3
log, a® X log_ b®=

3. |A |2 3
C. |5 6
log81 +log27=

4 A. |54 3

“1C. |3 4
4 3
logz(log,64)=

S |A |1 6
C. 19 3
If a® = b then

s X
A log[—) _ = loga _x

6. bl oy logh ¥

C. |loga ¥ None of these
logh =x
If log,(a+ 2)=2thena=

7. [A |2 3
C. |4 0
Value of log,, G)

8 A To 1
C. |-1 2
log 5 9=
Al 4

9. 4
C. |V3 i

V3

10. | In the following which sentence is wrong .
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A. |log(1+2+7)=logl+log2+1log5|B. |log(3+4)=log3 xlog4
C. |log,7=1 D. |log,,1=0
2 3|_ |2x -1 ~
”‘1 4x‘__‘5 x‘thenx'_
1. A T2 B. |2
C. |3 D. |5
If ‘g _55“ =25thenath=_
12. "A T10 B. [-10
C. |-5 D. |5
2 3 4 5
IfA=|3 4 &5 2] then order of matrix A is
13. 4 §5 2 3
A. | 3x4 B. | 4x3
C. | 3%3 D. [ 4x4
logh —5 1
I
3 logg| [-3 1og3
14. |A. |[[L © B. [[-1 O
[u 1] [ 0 —1]
C. ||t 1 D. [[0 O
[1 1] [u u]
1 2 3
3 2 1=
15. 2 4 &6
A. |8 B. |6
C. |4 D. |0
Matrix A = [ay;] of order nxn where a;; =0ifi#f and a;; = Lif i=j then A is
16. | A. | Raw matrix B. | Column matrix
C. | Identity matrix D. | Zero matrix
_[r 3 T _
If A= [3 5] then A+4° =
1. A TA B. | 2A
C. |0 D. |1
_[ sinf  cosf -1 _
ITA= [—cosﬁ siﬂﬂ] thenA™=__
18 FA T B. [A
C. | AT D. |0
2 1 3 —1 ~
|fA_[5 E]cmdﬁs‘— [_5 2]thenAB__
A. 1 0 B. 0 0
19. [u 1] [u 1]
1 0 D |0 1
[1 u] [1 u]
For a square matrix A , A™* is possible if A is matrix .
20. | A. | Non singular B. | singular
C. | Null D. | None of these
3 2 5
IfA=|0 -2 1] then the cofactor of 5 is
4 1 6
21 A. 1 Bl _E
2 2
C. | -8 D. |8
Y
22. A —
A | A |B. |1
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C. |a™! |D. [AdjA
|fA=[$ 2] and B = [g ﬁ] then |44 + 2B| =
23 'A T2 B. |1
C. |0 D. |4
It [j —52] - E —bz] then (a,b)=____
24. A, ] (5,3) B. [(3.5)
C. [(3.3) D. | (5,5)
If for a matrix A, A= — AT then A is matrix .
25. | A. | Diagonal B. | symmetric
C. | Skew symmetric D. | null
If A= [; ﬂ then (AT)T =
26. | A E ﬂ > [ 21 —34]
4 =2 1 2
© [—3 1 ] > [3 4]
In a determinant total elements are 9 then it is called determinant .
27. | A. | Second order B. | Third order
C. | First order D. | Fourth order
If Ais 3%2 and B is 24 order matrix then in AB total elements are
28. | A. |12 B. |8
C. |6 D. |4
Cos(—3007) =
A |2 B. |1
29. 2
c. |1 D. |2
V2
an radian = degree .
30. A T1410 B. | 1040
C. | 1140 D. | 1110
Principal period of sec f =
31. A. E B. [
2
C. |27 D. |4=m
If x° = x® then x =
32. |A. |0 B. |1
C. |m D. | 180
sec_l[—w.,."'i) =
AT B. n
33. 4 4
C. | 3m D. |*
4 3
Cos(m+6) =
34. | A. |sin@ B. |cos#@
C. |-sin@ D. |-cos@
sin®30+ cos?60=
35 |A |0 B. |1
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C. |1 D. E
4
Sin2A =
A. 2tanA B. 2tand
36. 1— tand 1+ tand
C. | 1—tan’4 D. |1+ tan*4
1+ tan’A 1—tan’4
(sin"lx + costx) — (tan"tx +cot™1x) =
37 [A. [0 B. [1
C. |7 D. |m
2
2sin=.cos= =
& &
A |1 B. [1
38. NG 2
C. |1 D. |43
2
For AABCsin(B + C) =
39. |A. |m B. |sinA
C. |sinB D. |sinC
[1—cos=f
*.ql 1+cosd
40. [ A. [tan® B. | cotd
C. | tanZ D. | cot2
If Sin3c< = cos2cc then o< = wE (ﬂ, 3}
A | T B. | ™
41, 30 20
C. | = D. |
10 2
Value of log(tanl’) x log(tan2’) X ... X log(tan89’) =
42. |A. |0 B. |1
C. |2 D. |3
If sinf = E then cos2é =
A. | 16 B. 7
43. 25 25
C. | 25 D. | 4
7 5
The graph of y = cosx x& [D, 3] touches the x axis in points .
44,
A. | Four B. | Three
C. | Two D. | One
sins50°- sin70" =
45. | A. | Sin1o’ B. | Sinz0
C. | -Sin10° D. | -sin20”
sin(m+8) m”[%""g} _
zinl2x-9g) cotia—_a) -
46. A |1 B. |2
C. |-2 D. |0
47. is a unit vector .
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A. | (sin 8 ,2cos 8) B. | (sin & ,cos 8)
C. |(1,-1) D. |(—-1,2)
Ifa=(1,2,3)andb=(4,4,—4)thenab=___

48. |A. |0 B. |1
C. |-1 D. |24
If ¥ = i+4j-k then |z] =

49. | A |81 B. |2
C. |3 D. | 3v2
Ifx=2vthenx xy=__

go | A | 21717 B. %Iszl2
C. |1 _., D. |0

E 54
If @ and b are unit vectors and a@. b =0 then |a + b| =

51. |A. |2 B. |42
C. D. |0
If F denotes the force applied to a particle and d denotes the displacement of the
particle in the direction of F then work done W =

2. A Fxd B. |dxF
C. |d.F D. | None of these
If £.# =0 then x and ¥ are vectors .

53. | A. | Parallel B. | perpendicular
C. [ Unit D. | Parallel unit
Direction cosine of y-direction is
A. X+ y+tz B. -

54. m *Jm
C. z D. y
If £ = 3i-k-2j and ¥ = 6i+7j+4k then (x~ ~ y7) =

55 | A n B. |m

2
C. |0 D. |1
If @=2i+jand b =i-2jthen Za+3b=___

56. | A. | (—7,—4) B. | (—7.4)
C. |(7.,—4) D. | (7.4)
If @ is unit vector then |al =

ST. | A. |1 B. |-1
C. |0 D. |2
If(2,-3,5)-(R,—6,—8)=0thenR =

58. |A. | -11 B. |-22
C. |22 D. |11
If ¥4+ = X+Z then ¥ =

59. |A. | ¥ B. |2
C. |x D. | 2x+zZ
(1,2,3)x(2 4,6) =

60. | A. [ (2,2,2) B. | (2,8,18)

C. |(-2,-8,—-18) D. |D
61. | If the measure of side of equilateral triangle is 2cm then its area is cm®.
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1

A | 43 B. |3
4
C. [3 D. |4
If the circumference of circle is 44 cm then the area of circle is cm®
62. | A. | 154 B. | 145
C. | 451 D. | 541
The surface area of cylinder is A = 2mr(r + __) .
63. |A. | B. |m
C. |h D. |1
A cone has base radius r = 14cm and | = 20cm then the surface area of cone is cm’
64. | A. | 880 B. | 220
C. | 140 D. | 280
The total surface area of hemisphere is
65. | A |nr B. | 2nr?
C. | 3nr D. | 4mr?
The ratio of radius of two cylinder having same height is 4:5 then the ratio of its
66 volume is
" A | 64:125 B. |16:25
C. |54 D. |45
The formula for find the volume of 5 rupees coin is
67. | A. | mrh B. | 2mrh
C. |=r*h D. |4nr?
Volume of cylinder = Volume of cone .
A |9 B. |6
%8 e 1 D. |3
3
If the area of base of cube is 16 cm” then the volume of cube is cm®.
69. | A. | 48 B. | 64
C. |8 D. |32
The formula for the volume of a sphere is
0. A. 4?’”2 37’[{‘3
C. Eﬂ:r?’ D. 2?1'[‘2
*hkkkhkhkkhkhkiikiik
sl
ol. | st Qs [Ascu
log(sin®x + cos®x)=
1 A |1 B. |0
C. |-1 D. |
2
log,,0.001=
A [3 B. [1
2. 3
C. |-3 D. | 1
3
log, a* X log_ b®=
3. |A. |2 B. |3
C. |5 D. |6
4, |log81 +log27=
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A. | 54 B. |3
C. |3 D. | 4
4 3
log;(log,64)=
5 A |1 B. |6
C. 19 D. |3
A a* = b¥ gl Al
A lo ay _x B. |loga =x
g(+)= =C
6. [b) ¥ logh v
C. |loga _Yy D. | None of these
logh =x
o log,(a+ 2)=2 8lal la=
7 TA 2 B. |3
C. |4 D. |0
log,, G) 0'[1 @Hd ENE
8. A To B. [1
C. |1 D. |2
log 5 9=
A |1 B. |4
9.
C. V"E D. i'_
V3
o(lAatl Hiell 53 (Atlteat ALY olell .
10. | A, |log(1+2 +7)=logl +log2+1log5 | B. |log(3+ 4)=log3 x log4
C. |log,7=1 D. |leg,,1=0
2 3] _|2x —1 -
081‘1 '4x‘__ ‘5 x ‘éﬂa{ dlx=
1L A T2 B. |2
C. |3 D. |5
‘ﬁ‘g _55“ =258la dlath=__
12. A T10 B. [-10
C. |5 D. |5
2 3 4 5 .
RNA=[3 4 5 2|8 dAQS Al sUis Al .
13. 4 §5 2 3
A. | 3x4 B. | 4x3
C. | 3x3 D. |4x4
logh -5 1
)
3 logyf [-3 log3
14. | A. [1 0 B. [_1 0 ]
0 1 0 -1
C. 1 1 D. 0 0
[1 1 [ﬂ ﬂ]
1 2 3
3 2 1|=
15. |12 4 &
A. |8 B. |6
C. |4 D. |0
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AQs A= [a,]lsHisnxn® . %Al a; =0 B i#j Ul a; =1%i=j B, A A

AQs B .
16. .
ERIG el
C. | asu D. | 902t
_[r 3 T _
°31A—[3 5]@21 A A+AT =
Y. A TA B. | 2A
C. |0 D. | I
R A = [ sind 6?59] au AQAAatl=
—cosf  sinf —_—
18. [ A T B. [A
C AT D. 0
12 1 13 -1 ~
oaA‘[s E]M;{B_ [—5 E]QucﬂAB—_
A. 1 0 B. 0 0
19. [u 1] [u 1]
c. ||t © D [0 1
[1 u] [1 u]
ARU ALRs AHR AT ASA D, ¥ A AAls alat .
20. | A | e B. | wauna
C. | yo ULl As ULl oS .
3 2 §
ANA=|0 —2 1]|8lA A5l USHAUL o .
4 1 6
2L A1 B. | 1
8 8
C. |-8 D. |8
A-A71=
22. A | A B. | I
C. | 41 D. | AdjA
11 0 — 0 2 -
°z?lA—[u 1] MHB-[E ﬂ]aacn|4ﬂ+23|_
23. 'A T2 B. |1
C. |0 D. | -4
4 571_[4 b _
oa [c:r, —2] - [3 —2] @.21 Cn (a, bj -
24. | A. [5’3:'] B. (3’5]
C. 133 (5,5)
ARs A HR2,A=—4AT A LA AQs B .
25. | A | [@Qsul - | dRAd
C. | QA D. | 902
aa-[l Jaor-_
A. 4 3 B. -1 3
26. [2 1] [ 2 —4]
C. 4 —2 D. 1 2
[—3 1 ] [3 4]
27. | % [AsAs Hi 59 Uesl sl Al A [Asus B .
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A RelR BHE
C. | AsslR D. | aRe12
B A 3x2 e B 2x4 5His oll A5 sl Al AB Hi 5¢ sl 89 .
28. A 12 B. |8
C. |6 D. |4
Cos(—3007) =
A 2 B. [1
29. 2
C. _i: D. ,JE
V2
et = ol
30. 'A. T1410 B. | 1040
C. | 1140 D. | 1110
sec £ of Yul BlclcdHlal 8 .
31. | A T B. | x
2
C. |2=n D. 4=
A xe=xf Al x=
32. |A. |0 B. |1
C. | D. | 180
sec“iﬂ—ﬁ_)Z
A | T B. T
33. 4 T
C. | 3m D. | ®
4 3
Cos(mr+ 6) =
34. | A. |sinf B. |cos#
C. |-sin@ D. | -cos #
5in®30 + cos?60=
A. |0 B. 1
35. 2
C. |1 D. |3
4
Sin2A =
A. 2tanA B. 2tand
36. 1 — tan?d 14+ tan?d
C. |1—tan’4 D. |1+ tan®A4
1+ tan’A 1—tan®4
(sin"lx + cos™1x) — (tan"1x + cot™1x) =
37 A [0 B. [1
C. ™ D. |,
2
2sin=.cos— =
& &
A |1 B. |1
38. V2 2
C. |1 D. |3
2
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AABC H2sin(B+C) =

39. A |, B. |sinA

C. | sinB sinC
[1—cosf _
ﬂ.|||1+c::-3|9 -

40. [ A, | tanf B. | Cot#
C. |tan> D. | cot>
%\ Sin3cc = cos20¢ ll o< = e (03]

AT B. | ™

41. 30 20

cC. | ™= D. | ®
10 2
log(tanl’) X log(tan2™) X ... x log(tan89’) oll Bud= 8 .

42. 'ATo B. [1
C. |2 D. |3
A\ siné = % l cos26 =
A. |16 B. | 7

43. 25 25
C. [25 D. |4

7 5
y = cosx x€ [0, %] oll AW X- et A (clg i BeA .

A T AQL
Cla D | as
sin50°- sin70” =

45. | A. | Sin10° B. | Sin20°
C. | -Sin10° D. | -sinz0’
sinlm+8) m”[;"'g_} _
zin(2m—2) cotim—8) -

46.

A |1 B. |2
C. |-2 D. |0
A AsH Uk ®.

47. | A. | (sin 8 ,2cos 6) B. | (sin @ ,cos 6)
C.la,-1 (—-1,2)
a=(1,23)MAb=(4,4,-4)Aab=

48. A T0 B. |1
C. |-1 D. |24
ol % = j+4j-k l |%| =

49. | A. ,”.'E B. ,F.E
C. V"E D. 3\.."5

50 MNE=2FAEXF=

A 213 B. | 2/z2
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C. 2 D. |5
— |72 0
Ala,bAsH AW Ayl @ b=0c|a+b|=
51. |A. |2 B. ,H.E
C. |1 D. |0
B F ol Al d et ofl €la 1i 24dd st ealad sl dl 4dd s sl W =
2 A [Fxd B. ldxF
C.laF wUHL As UL ot |
W £7=0cll £ WA 7 ultal ®
53. | A | iR Aol
C. | Asu D. | auic? Asu
Y- 2wt ol €la oll [EssueSat 8 .
A xty+z B, x
o4. Jx?+ y2tz? NESE S e vt
C. Z D. y
1ml.._.xz_|_},2_|_Z2 1.."352"'}’2"'22
| & = 3i-k-2j Wl ¥ = 6i+7j+4k Al (x~ ~ y7) =
55. |[A. | T B. |
2
C. |0 D. |1
| &= 2i+j Wl b = i-2j ll Za+3b =
56. | A | (=7,—4) B. | (-74)
C.l@-9 (7,4)
ola AsH Uew a A lal =
5. A |1 B. |-1
C. |0 D. |2
% (2,-3,5)-(R,—6,-8)=0AlR=
58. A [-11 B. |-22
C. |22 D. |11
A T+ =+ Al 7=
59. | A | 3 B. |z
C. T 2x+zZ
(12,3)%(2,4,6)=
60. | A | (2.2.2) B. |(2,8,18)
C.|(-2,-8,-18) D. |a
ol ALY 513l oll sl ol Hiu 2 AL 8l Al Agf Axs0
ALAH. B
61. A. 4\'."5 B. \.‘E
4
C. |3 D. |4
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B adn ol URw 44 AL sl AL adn of AaAsa LA w,

62. 'A. [154 B. [ 145

C. | 451 D. [541

ANUSIR of & AAnsN ucle] YA A=2mr(r+ _).
63. [A. [r B. |«

C. |h D. |1

g ol Wl ol A r=14 AL At 1=20 A sl A 2l of Adns
6a. | AL .

A. [ 880 B. [220

C. [ 140 D. [280

oitt wdollets of Axgm =
65. | A. | mr? B. | 2ar’

C. | 3nr? D. | 4nr?

UHLel QLAUE ol A aAouslR ofl Bl 4:5 UHIRHL 8l , Al AHell oSl
66. | 2lwR ® .

A. | 64:125 B. [16:25

C. |54 D. |45

532 ol Rsst of Ustso Nulclle] Y 8 .
67. | A. | mrh B. | 2mrh

C. | mr’h D. | 4nr?

OUSIR of Yol = Ay of UolsOL |
68. | A |9 B. [6

C. |1 D. |3

3

A5 UHYUstollUAle] g0 16 ALAML lat, dl Ao Ustsn ot Al B
69. |-

A. |48 B. [64

C. |8 D. |32

dNWUe] UatsL eLcllo] YA 8.
70 | A | 4mr? B. |Znr

C. |Zq8 D. 27
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